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1. FRIT aRRY ¥ gaTad 22 & 12 AT
AT STeR FI AGg i GIYUT fohder hI?
A. faeg Fareed gertod

B. tfrars faerrw &%

C. [aeg §=

D. 3Wad T

Ans. C

Sol.

e World Bank announced 12 Million
USD dollar help to the country
affected by Coronavirus.

e The World Bank is an international
financial institution that provides loans
and grants to the governments of poorer
countries and it consists of IBRD and IDA.
e 675 Million US dollar was donated by
WHO to fight Coronavirus.

2. fFsT & @ fone ergR A "gAd AT 3T
dfe fhar g2

A. 53 feoelr B. @ler
C.qxa D. SR
E. difea

Ans. B

Sol.

e The Speaker of Lok Sabha Om Birla
launched the ‘Suposhit Maa Abhiyan’, a
scheme to ensure nutritional support to
pregnant women in Kota.

e The scheme is in line to achieve
‘Malnutrition-free India’ by 2022.

3. @& & ¥ [T g & ACREX 3f3ar 2020
$r Aerer Hi?

A. ifca B. &aH
C. exX arver D. @3
E. gor

Ans. C

Sol.

e ACREX India 2020 is the largest
sustainability-driven congregation, which
was held at IEML, Greater Noida.

e ACREX India 2020 is organized by
Indian Society of Heating, Refrigerating
and Air Conditioning Engineers (ISHRAE)
and produced by NirnbergMesse India.
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4, T 7 @ & 9w s & R
AlcHa" I ASTEET Hr?

A. 9T B. gR=mom
C. {ET wer D. 3nfsaw
E. 319HA

Ans. C

Sol.

e Madhya Pradesh hosted two-day unique
Chilli Festival begins at Kasrawad in
Khargone district.

e The Festival is a big business
opportunity for traders, investors and
exporters and will also help in fulfilling the
Central Government’s goal of doubling
the income of farmers.

5.0 = # @ 39 ar ¢g e "Mesa
aor g Siias aren qe@ gar Afoae e
IgT?

A. TSR B

B. Alare SrhIfaT
C. Tl 13Tl D. T ;¥
E. fA3me arses
Ans. E
Sol.

e Brazilian teenager Thiago Seyboth Wild
became the youngest champion on Latin
America’s clay court ‘Golden Swing’

e He is in line with Rafael Nadal, who won
this title in 2005 when he was 18 years
old.

e Thiago Seyboth (19 years) defeated
second-seeded Casper Ruud of Norway in
the final.

e After the victory, he became Brazil's
youngest-ever champion at an ATP event.

6. WHO & At 1 Fifas
(COVID)-19 &I ‘3R TR W ATdoliaieh
TIRELY TUTdeRTel’ g foram|

A. 29 STeTadY B. 30 SieTadr
C. 31 Saa{Y D. 01 ®a{
Ans. B

Sol.

¢ WHO announced the covid 19 as a
Public Health Emergency of
International Concern on 30 Jan.
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e 675 Million US dollar was donated by
WHO (World Health Organisation) to fight
Coronavirus.

e WHO is working 24/7 to analyse data,
provide advice, help countries prepare &
increase supplies to manage the
emergency.

7. ARA H HRIAT aRH T Igell ATHAT Galieh

Fr Fer anl
A. 20 SAadr B. 30 SAar
C. 10 wadr D. 14 AT
Ans. B
Sol.

e The first case of Coronavirus was
found in India on 30 Jan 2020. The
case was confirmed in a student who
returned from Wuhan China in Thrissur
Kerala.

e The first death case of Corona virus was
in the state of Karnataka.

8. fa2a 3cutgahdr HET 2020 &7 TS foha

e H g fFutlRa fFar = &2

A. TS oo B. 3gHCIEIG

C. domaR D. gelmETg

E. ﬂﬁé

Ans. C

Sol.

e World Productivity Congress, the
world’s largest convention for

productivity development, will be held in
India after a gap of 45 years.

e The 19th edition of World Productivity
Congress (WPC) will be held on May 6 to
May 8, 2020 at the Bangalore
International Exhibition Centre,
Bangalore.

9. Al fadshieic HAAN RERR 2020 &
R FFATfaa fohar amar g2

A. g 3fsgeell B. STea 9T

C. AT FeardA D. F18 3edRy

E. Ol ogeT

Ans. B

Sol.

e Padma Shri Jadav Payeng, the Forest
Man of India will be conferred with the

$
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prestigious Swami Vivekananda
Karmayogi Award in New Delhi.

e The arward is instituted by My Home
India for his consistent efforts in creating
a real man-made forest through massive
reforestation.

10. fFar X o dgier a@er "a18 45006 "
T AsTEET $H?

A. Fifea B. slelehld
C. Jamr@geeas D. deAg
E. gor

Ans. D

Sol.

e The sixth offshore patrol vessel 'Yard
45006 VAJRA' to enhance coastal security
was formally launched in Chennai in the
presence of Union Shipping Minister
Mansukh Mandaviya and senior
government officials.

e The vessel, built by Larsen and Toubro
under the Centre's 'Make in India'
campaign.

11. ¥RAT Yod o frE e & 391 9gell
YERT 37T freq” e fhar &7

A. TGT> B. Hifea

C. 7% feeelr D. 7Fa$ Hea
E. 3rd=1arel

Ans. E

Sol.

¢ Indian Railways has launched its first
""Restaurant on Wheels" at the circulating
area of Asansol railway station for the use
of passengers as well as the general
public.

12. Fg T o gaif®e RBfScd T &
Reprs gamaT 32

A. FooTs B. goT

C. SR D. §e31eTg
E. #&as

Ans. C

Sol.

¢ Bangalore has set records for highest
digital transactions
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e According to the 'India Digital Payments
Report' released by Wordline India for
2019, the other cities in the top 10 are
Chennai, Mumbai, Pune, Hyderabad,
Delhi, Kolkata, Gurgaon, Coimbatore, and
Ernakulam.

e Among states, Karnataka featured
second on the list, following only
Maharashtra. The other states/union
territories from the third to the 10th
position are Delhi, Andhra Pradesh,
Gujarat, Kerala, Uttar Pradesh, Haryana,
and West Bengal.

13. fdex R &N S g & & [y
g T, e a7 ¥ gefag O

A. TTafeFg B. A9y
C. 9ITIRdr D. a1foia
E. fRreyor

Ans. A

Sol.

e Joginder Singh Saini, one of India’s
longest-serving athletics coaches who
guided top athletes for nearly three
decades, died in Patiala.

e He was 90.Saini, who passed out of the
National Institute of Sports (NIS) in the
1960s, emerged as one of the top
coaches.

14. AT SRIAT R Ygall -

# @it v

A. 1960 & g B. 1980 & &3
C. 1990 & a2 D. 2020 & &+
Ans. A

Sol.

¢ Human coronaviruses were first
identified in the late-1960s.

e People around the world commonly get
infected with human coronaviruses 229E,
NL63, OC43, and HKU1.

e COVID-19 is an infectious disease
caused by severe acute respiratory
syndrome coronavirus 2 (SARS-CoV-2).
It spreads through contact with an
infected person.
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15. 9og TR o dFl & S PRI aRRH
F I H IeEsar baer & QT Hia ar

3Mdest & fohar?

A. COVA 9ot B. COVID 9a&
C. U8 &RI=T D. 3 SR
Ans. A

Sol.

e COVA Punjab application was
launched by the Punjab Government to
spread awareness of the Corona virus
among people.

e The mobile application "COVA Punjab"
was launched by Punjab Chief Secretary
Karan Avtar Singh.

e This app suggests the nearest hospital
where the citizen can reach in-case he is
corona symptomatic.

16. efof@a # @ fFg & SR a—RE &
A Fr =GO SARS-Cov-2 & & H &I?

A. E.LELE (ICTV)

B. Sseguasit (WHO)

C. gfe @ (UNICEF)

D. 38.91.TA.31R (ICMR)

Ans. A

Sol.

e ICTV is International Committee on
Taxonomy of Viruses.

e It announced the SARS-Cov-2 as the
name of the Coronavirus on 11 February
2020.

e Full Form of SARS-Cov-2 was severe
acute respiratory syndrome coronavirus
2.

17. 3f¢ a, b, c arEafas g & 3K a2 +
b2+ c2=2(a-b-c)-3gd(2a-3b
+ 4¢) T AT T Bram?

A. -1 B.0

C.1 D. 2

Ans. C

Sol.

Given, a2+ b2+ c2=2(a-b-¢)-3

> (a@%-2a+ 1)+ (b?+ 2b + 1) + (c2+
2c+1)=0
>@-12+Mb+1)2+(c+1)2=0
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W Tl aredfaes ST T a9 HUTcHS H&dT
ST 8 TohelT &, SHTaIT Feft o7 & AT 2 Biel|
Hence, (a-1)2 =10, (b + 1)2=0 and (c
+1)2=0

s>a=1,b=-1,c=-1

Thus, (2a-3b + 4c) =2 -(-3) + 4(-1) =
2+3-4=1

18. faig (8, -16) 3R (26, K) & s & gt 30
il &1 K T AT Fd1u?

A. 7.5 B. 8
C.12 D. -26
Ans. B

Sol. Distance between the two points

=J{26—3]2—(k—16] _ 20

= (18)2 + (K + 16)2 = 900

= (K + 16)2 = 900 - 324 = 576
= (K + 16)2 = 242
>K=24-16=28

ey

19. IfE '0', APQR &7 3id: Fwg &l 3iR 2POR
= 115° g, ar 2PQR &T AT &7 §?

A. 40° B. 65°
C. 50° D. 25°
Ans. C

Sol. In any APQR, if O be incentre (where
internal angle bisectors of all three angles
meet) of A PQR.

Then, 2POQ = 90° + «R/2

2POR = 90° + 2Q/2

2QOR = 90° + «P/2

p

115° = 90° + 2Q/2
= 2Q/2 = 25°
= 2Q = 50°

20. Us 3R [Eafdier qor foreehr arrars 3k
Tierg 100 #Hrx 255 #r &, 45 A Hr 39S d
S H ST TohdelT THT o1a1aT, IS arell IRaY

¢
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arel ATIAThR &g T 3T 75 4T x 40 A=Y
g 3R &F & gt srRey v 1fa 4250 H/ger 81

A. 9 geT B. 10 ger

C. 6.6 geT D. 10.6 ger

E. 348 & IS gl

Ans. A

Sol. Let the time taken to fill the tank be
‘t’ hours.

Volume of water flown in t hrs. = 100 x
255 x (45/100) = 11475 m3

Given,

Speed of water = 4250 m/hr.

Cross section area of aperture = 0.75 x
0.4 m2= 0.3 m?

Then,

= Water flown in't" hrs. =t x 0.3 x 4250
m3

= 11475 = 1275t

=t =9 hours

21. ST FA FT 3ee13T 30°F T 600 81 STl
g a9 Rt 15 #Aex 3 @Fa fr Worar F
TAFESAT H FAT A gIEM?

A. 7.5 HeX B. 15 #Hex

C. 10V3 Hiex D. 5V3 #HeX

Ans. C
Sol. Formula:
1D

15 m

o o

060

A B C

tan 8 = perpendicular/base
In triangle ACD,

tan30° = CD/AC

= AC = 15V3 m

In triangle BCD,

Tan60° = CD/BC

= BC = 15/VY3=5V3m
So, AB = AC - BC =10V3m

22. afr P-a-r-s=1] ar
[1+pll=glil+r}l+5s]| &1 HRAFTH AT &
A. (1/2)3 B. (5/4)*

C. (5/4)3 D. (1/2)4

Ans. B
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Sol. Given,p+qg+r+s=1................
(i)

Adding 4 on both sides of eq.(i):
p+q+r+s+4=1+4

Now using AM > GM:
=
Q+p)+(1+g)+A+r)+(1+5)

" 2[a+p)Xi+ @ +r)a+s)

¢ m

: % | z(1+ p)A+g)1+1)1+5)

= J
Then maximum value of expression is

(5/4)*

23. & 71$ 3epicl # Shard AB 3R CD Toh FAT
g1 afe LOBA = 55° a@ ~COD & A §:

[,
</

B
A. 65° B. 55°
C. 70° D. 50°
Ans. C

Sol. In triangle COD, OC = OD = radius.
Therefore ODC is an isosceles triangle.

~» 20DC = 20CD = 55°

~» 2COD = 180° - 55° - 55° = 70°

24. s fARYT Fe s9r A, "BORROW" Y
"TQDYQT" & &7 & 3R "SEALED" &I
"CGUFGN" & &9 # for@r sfrar g1 o 341 ge
YT H "MINGLE" &7 & for@r smuen?

A. GNEPKO B. OGNEPK
C. OGNPKE D. PKOGNI
Ans. D

¢
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As,

B 0 R R 0 W
2 +2 42 +2 42 +2
T Q D ¥ O T

And
5 E A L E D
42 42 42 +2 42 +2
cC G U F G N
Similarly,
M | N G L E
+2 +2 42 +2 42 +2
Sol. P K O G N |

Thus MINGLE is coded as PKOGNI.
Hence, option D is correct.

25.3f¢ 37 $22=14,72$25=16,54 $
28 =19, A 43 $ 65 = ? & AT FAT §?

A. 18 B. 26
C. 23 D. 22
Ans. A

Sol. As,

37$22 -3+ 7+ 2 +
72$25—-7+2+2+
544$28 -5+4+2+
Similarly,
43$65—-4+3+6+5=18
Thus 43 $ 65 is equal to 18.
Hence, the correct option is A.

couUTN
[T

e
@p\-h

26. T fafAse g 99T H "DELETE" & "#@
@ % @" for@r Sirar g 3R YGRAM” &t "l ?
* & X" fo@r ST g| 30 HIE AW H

"TELEGRAM" &I fohg gaR for@r Sreem?

A. %@ "@ N?*& B. %@ "@ I?"N&

C. %@ *@ !'?*& D. %@ "@ !?*&
Ans. D

Sol. Here each letter is coded with a
certain symbol so, we can directly, put
the symbols as given for the words
DELETE and GRAM to obtain the code of
the word ' TELEGRAM' as;

T=%

E=@
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Qo*v—@>

L
E
G
R
A
M
Hence, option D is correct.

27. af¢ NETWORK &I KBQTLOH & &7 &
Fifea fFar arar & O METALS 68 YR SAfsd
T SATTaT?

A. IBQXI B. JCRSV
C. NFQXU D. PHWDO
Ans. A

Sol. As,

N E T w 0 R K
-3 -3 -3 -3 -3 -3 -3

Similarly,
M E T A L

-3 -3 -3 -3 -3

VL

] B Q X |

Thus METAL is coded as JBQXI.
Hence, the correct option is A.

28. tsh [Af¥aa s & 'CLEAR' &I'39261' &
T H AT 'TURBINE' &I'7514802' & &9 &
HIfsd forar aram g1 af 84T FIs &7 'CELLULAR'

FI FT Fifsa Far Frwam?

A. 32996951 B. 32995951
C. 32995961 D. 33995961
Ans. C

Sol.

Here each letter is coded with a certain
number so, the codes are as follows;

CILIEJA[R|T|U[B([I [N
(9|26 (175|480

¢
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U—->5

L—9

A—6

R—1

Thus, the code for CELLULAR will be
32995961.

Hence, the correct option is C.

29. Ts AT¥ad HIs H 'CREATE' &r 'FUBFSD'
& ® & HIfsd frar @ g oar 3@ Fs A7
'BANKING' & & Hifsa siar?

A. HOJLOBC B. HOLJOBC
C. HOJLBOC D. HIOLOBC
Ans. A

Sol. The pattern is as follows:
C R E A T E

F U B F S D
+1 +1 +1 +1 +1 +1

Similarly,
B

H O J L c

+1 +1 +1 +1 +1 +1 +1

Hence, option A is the correct response.

30. Choose the most appropriate
option to change the narration
(direct/indirect) of the (given
sentence.

The Captain said to his men, “Stand at
ease.”

A. The Captain urged his men to stand at
ease.

B. The Captain wanted his men to stand
at ease.

C. The Captain told his men that they
should stand at ease.

D. The Captain commanded his men to
stand at ease.

Ans. D

Sol.

This is an imperative sentence. In such
sentences, order, request, advice or
negative command is given. In negative
command, the reported speech starts
with Do not or Don't.
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Rules for changing imperative sentences
in indirect speech:

e Say/said to changes to
order/ordered/command/commanded/re
quest/requested/urge/urged/advise/advi
sed/ask/asked/tell/told/suggest/suggest
ed as per the sense of the sentence.

e Inverted commas (" ") is removed and
to is used before the main verb.

e The pronoun of the reported speech
changes accordingly.

eThe words like kindly, please are
removed.

e For negative command, inverted
commas are removed and not + to + verb
(first form) is used. For example, “do not
go” changes to “not to go”.

e In negative commands, forbid/forbade
+ object + to + verb (first form) is also
used.

Common rules for direct/indirect speech:
e The words like, this, these, tomorrow,
yesterday change to that, those, the next
day, the previous day respectively.

¢ If the reporting verb is in past tense, we
make changes to the reported verb as per
the below rule:

e Simple present tense changes to simple
past tense.

e Present continuous tense changes to
past continuous tense.

e Present perfect tense changes to past
perfect tense.

e Present Perfect continuous tense
changes to past perfect continuous tense.
e Simple past tense changes to past
perfect tense.

e Past continuous tense changes to past
perfect continuous tense.

e No changes are made to past perfect
and past perfect continuous tense.

Below are the rules for changing the
pronouns correctly:

e First person pronoun changes according
to the subject of reporting speech.
eSecond person pronoun changes
according to the object of reporting
speech.

e Third person pronoun does not change
in indirect speech.

31. Choose the most appropriate
option to change the narration

$
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(direct/indirect) of the given
sentence.

Pawan said to me, “If I hear any news, I'll
phone you.”

A. Pawan told me that if he heard any
new, he will phone me.

B. Pawan told me that if he will hear any
news, he will phone me.

C. Pawan told me if he had heard any
news, he would phone me.

D. Pawan told me that if he heard any
news, he would phone me.

Ans. D

Sol. The given sentence is the direct
speech of a simple sentence. So, "said to"
will change to "told". The conjunction
"that" will be used to connect the
reporting and reported speech. The tense
of the reported speech will change from
present to past tense. "Will" gets changed
to "would". Option D adheres to this
rules, so it is the correct answer.

32.Choose the most appropriate
option to change the narration
(direct/indirect) of the given
sentence.

“You can’t bathe in this sea,” he said to
me, “it's very rough.”

A. He said that I can’t bathe in this sea
because it's very rough.

B. He said that you couldn’t bathe in that
sea if it was very rough.

C. He said that I couldn’t bathe in that sea
as it was very rough.

D. He said that you can’t bathe in this sea
since it was very rough

Ans. C

Sol.

Rules for changing the direct speech into
indirect speech are given below:

e The inverted commas (* %) used in
Direct Narration is removed in Indirect
Narration and “that” conjunction is used.
e Says to/said to changes to tells/told in
indirect speech if they are followed by an
object. If not, they would remain same in
indirect speech.

How to changes the tense in indirect
speech

o If the reporting verb is in present or
future tense, no changes are made to the
verb/tense of the reported speech.
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o If the reporting verb is in past tense, we
make changes to the reported verb as per
the below rule:

e Simple present tense changes to simple
past tense.

e Present continuous tense changes to
past continuous tense.

e Present perfect tense changes to past
perfect tense.

e Present Perfect continuous tense
changes to past perfect continuous tense.
e Simple past tense changes to past
perfect tense.

e Past continuous tense changes to past
perfect continuous tense.

e No changes are made to past perfect
and past perfect continuous tense.

e Can, shall, will, may, must changes to
could, should, would, might and must
respectively.

o If there are any universal truth, habitual
fact in the reporting speech, no changes
are made to the reported verb’s tense.
How some words change in indirect
speech

e Words like “this, these, tomorrow,
yesterday change to that, those, the next
day, the previous day” respectively.
Below are the rules for changing the
pronouns correctly:

e First person pronoun changes according
to the subject of reporting speech.
eSecond person pronoun changes
according to the object of reporting
speech.

e Third person pronoun does not change
in indirect speech.

33. Choose the most appropriate
option to change the narration
(direct/indirect) of the (given
sentence.

“What did you see at the South Pole?”
Ashok asked Anil.

A. Ashok asked Anil if he saw anything at
the South Pole.

B. Ashok asked Anil what he had seen at
the South Pole.

C. Ashok asked Anil what did he seen the
South Pole?

D. Ashok asked Anil that he saw anything
at the South Pole.

Ans. B

$
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Sol.

The given sentence is in interrogative
form. To convert such sentences into
indirect narration, the below rules are
followed:

e Say/Said is changed to
ask/asked/wonder/wondered/enquire
of/enquired of etc as per the sense of the
sentence.

e Inverted commas (" ") are removed.

o If the reported speech is in YES/NO
question form then if/whether is used
before reported speech.

o If the reported speech is in the form of
WH-Question
(who/what/why/how/where/when/which
etc), no conjunction is used before the
question word. The question word itself
works as a conjunction.

e Reported verb is made assertive; i.e. it
is kept in the order of subject + verb.

e The sign of interrogation (?) is removed
and full stop is used.

Common rules for converting direct
speech to indirect speech:

e The words like, this, these, tomorrow,
yesterday change to that, those, the next
day, the previous day respectively.

o If the reporting verb is in past tense, we
make changes to the reported verb as per
the below rule:

e Simple present tense changes to simple
past tense.

e Present continuous tense changes to
past continuous tense.

e Present perfect tense changes to past
perfect tense.

e Present Perfect continuous tense
changes to past perfect continuous tense.
e Simple past tense changes to past
perfect tense.

e Past continuous tense changes to past
perfect continuous tense.

e No changes are made to past perfect
and past perfect continuous tense.

Below are the rules for changing the
pronouns correctly:

e First person pronoun changes according
to the subject of reporting speech.
eSecond person pronoun changes
according to the object of reporting
speech.
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e Third person pronoun does not change
in indirect speech.

34. Choose the most appropriate
option to change the narration
(direct/indirect) of the (given
sentence.

Mother said to you, "When will you leave
from Pune?"

A. Mother asked you when you would
leave from Pune.

B. Mother asked you when you will leave
from Pune.

C. Mother asked you when you will be
leaving from Pune.

D. Mother asked you when you will have
left from Pune.

Ans. A

Sol.

The given sentence is in interrogative
form and the rules for converting such
sentences into indirect speech states that
‘said’ is changed into ‘asked’, inverted
commas are removed. In case of wh-
questions, no conjunction is used before
reported speech as the question word
itself works as a conjunction. Sentence A
abides by all these rules. Hence, it is the
correct answer.

Rules for converting interrogative speech
into indirect speech are given below:

e Say/Said is changed to
"ask/asked/wonder/wondered/enquire
of/enquired of" etc as per the sense of the
sentence.

e Inverted commas (" ") are removed.

o If the reported speech is in YES/NO
question form then if/whether is used
before reported speech.

o If the reported speech is in the form of
WH-Question
(who/what/why/how/where/when/which
etc), no conjunction is used before the
question word. The question word itself
works as a conjunction.

e Reported verb is made assertive; i.e. it
is kept in the order of subject + verb.

e The sign of interrogation (?) is removed
and full stop is used.

Common rules for converting direct
speech to indirect speech:

$
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e The words like, this, these, tomorrow,
yesterday change to that, those, the next
day, the previous day respectively.

o If the reporting verb is in past tense, we
make changes to the reported verb as per
the below rule:

e Simple present tense changes to simple
past tense.

e Present continuous tense changes to
past continuous tense.

e Present perfect tense changes to past
perfect tense.

e Present Perfect continuous tense
changes to past perfect continuous tense.
e Simple past tense changes to past
perfect tense.

e Past continuous tense changes to past
perfect continuous tense.

e No changes are made to past perfect
and past perfect continuous tense.

Below are the rules for changing the
pronouns correctly:

e First person pronoun changes according
to the subject of reporting speech.

e Second person pronoun changes
according to the object of reporting
speech.

e Third person pronoun does not change
in indirect speech.

35. Choose the most appropriate
option to change the narration
(direct/indirect) of the (given
sentence.

He said,"Be quiet and listen to my words."
A. He asked to be quiet and listen to his
words.

B. He urged them to be quiet and listen
to his words.

C. He said to them be quiet and listen to
his words.

D. He told to listen to his words and be
quiet.

Ans. B

Sol.

This is an imperative sentence. In such
sentences, order, request, advice or
negative command is given. In negative
command, the reported speech starts
with Do not or Don't.

Rules for changing imperative sentences
in indirect speech:
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e Say/said to changes to
order/ordered/command/commanded/re
quest/requested/urge/urged/advise/advi
sed/ask/asked/tell/told/suggest/suggest
ed as per the sense of the sentence.

e Inverted commas (" ") is removed and
to is used before the main verb.

e The pronoun of the reported speech
changes accordingly.

eThe words like kindly, please are
removed.

e For negative command, inverted
commas are removed and not + to + verb
(first form) is used. For example, “do not
go” changes to “not to go”.

¢ In negative commands, forbid/forbade
+ object + to + verb (first form) is also
used.

Common rules for direct/indirect speech:
e The words like, this, these, tomorrow,
yesterday change to that, those, the next
day, the previous day respectively.

o If the reporting verb is in past tense, we
make changes to the reported verb as per
the below rule:

¢
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e Simple present tense changes to simple
past tense.

e Present continuous tense changes to
past continuous tense.

e Present perfect tense changes to past
perfect tense.

e Present Perfect continuous tense
changes to past perfect continuous tense.
e Simple past tense changes to past
perfect tense.

e Past continuous tense changes to past
perfect continuous tense.

e No changes are made to past perfect
and past perfect continuous tense.

Below are the rules for changing the
pronouns correctly:

e First person pronoun changes according
to the subject of reporting speech.
eSecond person pronoun changes
according to the object of reporting
speech.

e Third person pronoun does not change
in indirect speech.
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